Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Afran, Neil & Janellen O'Bray	05/26/2011	90.3540	\$5,300.00	\$478,876.20	\$0.00	\$478,876.20			2008	Block:40, Lot:1.01; Block:40, Lot:2.04;
Allison - Wintergreen Tree Farm	11/06/2013	130.3960	\$4,675.00	\$609,601.30	\$304,800.65	\$304,800.65			2013	Block:23, Lot:2.03; Block:23, Lot:3; Block:23, Lot:9;
Alpert - Tami's Tip Top Farm	05/07/2004	31.9400	\$2,500.00	\$79,850.00	\$59,089.00	\$20,761.00			2001	Block:151, Lot:18.01;
Andersen Farm	07/07/2014	11.5740	\$12,495.00	\$144,625.00	\$144,625.00	\$0.00			2012	Block:17001, Lot:27; Block:17002, Lot:1; Block:17002, Lot:2;
Angle, Jeffery	08/14/2007	21.6070	\$9,500.00	\$205,266.50	\$123,159.90	\$82,106.60			2007	Block:1103, Lot:24.02;
Ashley - Maple Dale Farm	05/07/2009	19.3800	\$21,200.00	\$409,838.40	\$0.00	\$409,838.40			2007	Block:28001, Lot:6;
Ayers - Spring Brook Farm	11/05/2004	72.6780	\$2,500.00	\$181,302.50	\$134,163.85	\$47,138.65			2003	Block:1203, Lot:20.01; Block:1203, Lot:22;
Bain, Thomas	06/30/2010	120.7560	\$8,199.27	\$990,111.21	\$500,000.00	\$218,347.00	\$271,701.00			Block:26, Lot:14; Block:26, Lot:16; Block:26, Lot:20.10;
Barnitt - Barnitt Farms	11/19/2004	67.0370	\$2,200.00	\$147,481.40	\$109,940.68	\$37,540.72			2003	Block:126, Lot:1.01; Block:126, Lot:13; Block:39, Lot:2;
Beemer - Old Beemer Farm	06/30/1995	197.8670	\$3,000.00	\$593,601.00	\$435,307.40	\$158,293.60			1994	Block:38, Lot:13.01; Block:37, Lot:13.01;
Beetle, Jeffrey	12/30/2003	91.9930	\$3,150.00	\$289,777.95	\$210,663.97	\$79,113.98			2002	Block:14, Lot:2.01;
Bina - Stone Haven Farm	07/15/2005	25.5680	\$3,000.00	\$76,704.00	\$56,249.60	\$20,454.40			2004	Block:29, Lot:1.01;
Boheim - Boheim Farm	12/29/2003	89.8040	\$2,352.00	\$211,219.01	\$156,833.71	\$54,385.30			2002	Block:119, Lot:5.01; Block:35, Lot:4; Block:35, Lot:4.02;
Borisuk - Glen Drew Farm	10/09/2009	20.0520	\$21,700.00	\$435,128.40	\$0.00	\$435,128.40			2007	Block:91, Lot:1.20;
Braunwell - Monument View Farm	09/20/2006	33.7990	\$5,148.00	\$173,997.25	\$117,417.72	\$56,579.53			2006	Block:149, Lot:20.08;
Brex, Maria	07/01/2009	183.1120	\$3,850.00	\$704,981.20	\$0.00	\$704,981.20			2007	Block:1103, Lot:8;
Brooks, Harriet	01/07/2003	70.0253	\$2,254.00	\$157,837.03	\$117,488.45	\$40,348.58			2001	Block:152, Lot:7.01;
Cagno - Crest View Acres	11/27/2002	99.6100	\$2,100.00	\$209,181.00	\$156,387.70	\$52,793.30			2001	Block:140, Lot:19;
Cahill - Cahill's Farm	06/11/2001	39.1130	\$3,648.00	\$131,520.61	\$93,333.49	\$38,187.12			1999	Block:22, Lot:1; Block:24, Lot:6; Block:26, Lot:3;
Caton, Gary	04/23/2009	13.0350	\$7,950.00	\$103,628.25	\$0.00	\$103,628.25			2007	Block:135, Lot:11.02;
Caton, Larry	04/23/2009	15.5790	\$5,700.00	\$88,800.30	\$0.00	\$88,800.30			2007	Block:153, Lot:9;
Cerbo - Cerbo's Frankford Farm	01/04/2005	214.3890	\$2,871.00	\$601,592.21	\$442,068.65	\$159,523.56			2011	Block:19, Lot:10; Block:21, Lot:6;
Chirip - Crooked Creek Farm	05/07/2009	18.0080	\$7,850.00	\$141,362.80	\$69,330.80	\$72,032.00			2008	Block:19, Lot:20;
Compton, Bertha	08/13/1997	151.1435	\$2,848.00	\$430,456.69	\$316,434.03	\$114,022.66			1996	Block:29, Lot:11; Block:30, Lot:3.01;
Cosh - Pine Hill	11/18/1997	309.6989	\$2,500.00	\$774,247.25	\$572,942.97	\$201,304.28			2011	Block:33, Lot:2; Block:33, Lot:6; Block:34, Lot:6.01; Block:34, Lot:6.02; Block:35, Lot:9; Block:37, Lot:11;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Cosh, Marjorie	06/25/1997	258.8826	\$2,528.00	\$654,455.22	\$484,006.91	\$170,448.31			1996	Block:34, Lot:2.01; Block:35, Lot:6;
Crisman Brothers Farm #1	05/08/2012	86.0870	\$6,400.00	\$550,956.80	\$348,652.35	\$202,304.45			2010	Block:2101, Lot:6; Block:1902, Lot:8;
Crisman Brothers Farm #2	05/08/2012	70.4600	\$7,900.00	\$556,634.00	\$338,208.00	\$218,426.00			2010	Block:2005, Lot:11.01;
Crisman, Jeff Et Al	05/08/2012	70.2940	\$6,100.00	\$428,793.40	\$0.00	\$428,793.40			2010	Block:2101, Lot:4;
Cuneo - Hill Crest Farm	09/19/2001	52.0443	\$1,900.80	\$98,583.66	\$74,194.99	\$24,388.67			2000	Block:35, Lot:1;
Decker, William	07/28/2009	38.3890	\$14,700.00	\$553,719.60	\$0.00	\$553,719.60			2007	Block:35, Lot:1.01;
Deckertown Farm, LLC	06/15/2010	70.2910	\$4,500.00	\$314,118.00	\$0.00	\$314,118.00			2008	Block:154.03, Lot:3;
DeGroat, Roger & Billowitz, Sandra	04/27/2009	13.7840	\$12,500.00	\$165,825.00	\$0.00	\$165,825.00			2007	Block:127, Lot:5.01; Block:127, Lot:6;
Demarest - Demarest Farm	06/27/2008	42.4450	\$9,270.00	\$393,465.15	\$236,079.09	\$157,386.06			2008	Block:32, Lot:20.01; Block:14001, Lot:3;
Den Heyer, Kathy (Estate of Alberta Caton)	04/14/2009	21.8500	\$13,050.00	\$283,028.40	\$0.00	\$283,028.40			2008	Block:153, Lot:9.01;
Dreisbach, Jack & Julia	01/13/2005	244.7660	\$2,820.00	\$689,983.50	\$507,455.95	\$182,527.55			2003	Block:39, Lot:2.01; Block:39, Lot:3.02; Block:39, Lot:3; Block:39, Lot:12.03; Block:38, Lot:11.03;
Eick - Sugarwood Farm	06/23/2008	81.2850	\$2,800.00	\$227,598.00	\$68,279.40	\$159,318.60			2008	Block:2501, Lot:33.01;
Elwood/Minifie - Good Hand Farm	06/12/1991	46.7400	\$6,500.00	\$299,585.00	\$239,668.00	\$59,917.00			1990	Block:157, Lot:2.01;
Fairclough, A Pine Brook Farm	05/30/2003	65.6330	\$3,029.50	\$197,477.96	\$144,560.78	\$52,917.18			2001	Block:3202, Lot:74; Block:3202, Lot:45.01;
Fairclough, James - Top Brass Farm #1	04/28/2008	68.9550	\$2,300.00	\$158,596.50	\$117,913.05	\$40,683.45			2002	Block:3202, Lot:55;
Fairclough, James - Top Brass Farm #2	04/08/2008	78.3080	\$2,600.00	\$201,000.80	\$148,431.36	\$52,569.44			2002	Block:3202, Lot:47;
Fairclough, James - Top Brass Farm #3	04/08/2008	33.9670	\$5,300.00	\$180,025.10	\$120,582.85	\$59,442.25			2002	Block:3202, Lot:5;
Fairclough, John - Fair View Farm #1	05/31/2007	37.6310	\$4,400.00	\$160,600.00	\$110,960.00	\$49,640.00			2004	Block:3301, Lot:6;
Fairclough, John - Fair View Farm #2	05/31/2007	48.7450	\$3,534.00	\$172,035.12	\$122,693.07	\$49,342.05			2004	Block:3301, Lot:5.01;
Fairclough, John - Fair View Farm #3	05/31/2007	31.5890	\$4,200.00	\$132,673.80	\$92,239.88	\$40,433.92			2006	Block:3301, Lot:5;
Fairclough, John L Hidden Spring Farm #1	05/05/2008	33.5270	\$5,200.00	\$171,610.40	\$115,507.00	\$56,103.40			2006	Block:3105, Lot:3;
Fairclough, John L Hidden Spring Farm #2	05/05/2008	46.5350	\$4,600.00	\$214,061.00	\$147,050.60	\$67,010.40			2006	Block:3102, Lot:1.03;
Foody - Foody Farm #1	11/12/2010	59.1380	\$6,300.00	\$369,482.40	\$237,524.40	\$131,958.00			2006	Block:2603, Lot:1.03;
Foody - Foody Farm #2	11/12/2010	52.9720	\$5,800.00	\$293,857.00	\$192,527.00	\$101,330.00			2006	Block:2603, Lot:1.02;
Foody - Foody Farm #3	11/12/2010	91.4140	\$3,300.00	\$301,666.20	\$217,565.32	\$84,100.88			2006	Block:2603, Lot:1;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Foody - Foody Farm #4	11/12/2010	60.6790	\$3,200.00	\$189,376.00	\$137,297.60	\$52,078.40			2006	Block:2603, Lot:1.04; Block:2603, Lot:15.01;
Foody - Foody Farm #5	11/12/2010	63.4940	\$3,100.00	\$196,208.30	\$143,042.18	\$53,166.12			2006	Block:3202, Lot:38.01; Block:3202, Lot:39;
Foody - Foody Farm #6	11/12/2010	73.0850	\$3,400.00	\$248,489.00	\$178,327.40	\$70,161.60			2006	Block:3202, Lot:38; Block:3202, Lot:40;
Fountain House - High Point Farm	06/03/2008	440.7790	\$1,530.00	\$674,391.87	\$516,152.21	\$158,239.66			2003	Block:19, Lot:20;
Frank - Split Rock Farm	12/22/2006	129.5170	\$2,600.00	\$336,744.20	\$248,672.64	\$88,071.56			2006	Block:1103, Lot:3.08;
Frankowski, John & Irene	03/08/2000	111.6600	\$1,900.00	\$206,986.00	\$155,784.20	\$51,201.80			1998	Block:1.02, Lot:6;
Frascella, Michael	02/08/2010	27.2400	\$7,500.00	\$204,300.00	\$0.00	\$204,300.00			2007	Block:10, Lot:1;
Freeborn - Tranquility Farms	12/13/2001	90.4990	\$3,768.42	\$341,038.24	\$307,696.60	\$33,341.64			1998	Block:15, Lot:3; Block:113, Lot:3;
Fritz - Meadowbrook Farm	02/04/2008	32.6990	\$5,500.00	\$179,844.50	\$53,953.35	\$125,891.15			2008	Block:111, Lot:12.02;
Gaffney, Edward	01/06/2004	35.7200	\$2,790.00	\$99,658.80	\$73,333.16	\$26,325.64			2002	Block:901, Lot:3; Block:901, Lot:34.04; Block:901, Lot:34.05;
Gebhard, Alice	02/13/2007	164.1600	\$2,700.00	\$443,234.70	\$326,680.39	\$116,554.31			2006	Block:153, Lot:10.01; Block:153, Lot:12; Block:153, Lot:2.01;
Gerard - Meadowburn Farm	03/10/2009	362.4860	\$2,700.00	\$970,620.30	\$715,383.11	\$255,237.19			1999	Block:32, Lot:9; Block:34, Lot:1; Block:40, Lot:1; Block:40, Lot:3; Block:40, Lot:5; Block:41, Lot:1;
GGE Ventures - Glenn Thomas	12/20/2004	76.1230	\$2,900.00	\$220,756.70	\$162,141.99	\$58,614.71			2003	Block:32, Lot:12;
Gillman - Gilman Farm, Inc	02/07/2001	86.8650	\$2,137.50	\$185,673.94	\$47,015.68	\$138,658.26			2000	Block:36, Lot:9.01; Block:36, Lot:9.02;
Golden View Farm, LLC	11/06/2013	75.2330	\$4,200.00	\$315,978.60	\$157,998.30	\$157,989.30			2013	Block:48, Lot:20; Block:48, Lot:20.07;
Gordon, Charles	09/14/2011	40.7160	\$9,000.00	\$365,625.00	\$0.00	\$365,625.00				Block:3105, Lot:20.03;
Gordon, William	02/19/2010	20.6110	\$11,200.00	\$230,843.20	\$0.00	\$230,843.20			2008	Block:3106, Lot:1.03;
Hahn - Heritage Acres Farm	08/29/2007	17.2810	\$12,200.00	\$202,312.60	\$121,387.56	\$80,925.04			2007	Block:21, Lot:8.02;
Hamming - Foothill Acres	09/13/1999	281.5160	\$1,785.00	\$492,131.46	\$253,101.69	\$239,029.77			1997	Block:2, Lot:15; Block:2, Lot:16; Block:2, Lot:18.01; Block:2, Lot:19.01;
Harden, Richard	10/28/1996	237.2708	\$2,700.00	\$640,631.16	\$472,168.89	\$168,462.27			1995	Block:2, Lot:6; Block:23, Lot:1; Block:24, Lot:1;
Harm - Harms Way Farm	04/14/2009	32.7190	\$10,000.00	\$327,190.00	\$0.00	\$327,190.00			2007	Block:153, Lot:9.03;
Harper - Harper Farms	11/13/2007	205.2880	\$4,257.00	\$867,900.13	\$602,290.48	\$265,609.65			2007	Block:1203, Lot:29;
Hauck, Michael	12/11/2008	67.7280	\$4,324.00	\$292,855.87	\$202,804.72	\$90,051.15			2008	Block:165, Lot:30.01;
Hautau, H.J. & Sons #1	09/14/2009	29.8980	\$8,500.00	\$250,928.50	\$0.00	\$250,928.50			2007	Block:25, Lot:15.03;
Hautau, H.J. & Sons #2	09/14/2009	37.3210	\$10,200.00	\$373,666.80	\$216,423.90	\$157,242.90			2007	Block:25, Lot:15.02; Block:28, Lot:1.04;
Hautau, H.J. & Sons #3	09/14/2009	36.1170	\$9,000.00	\$325,053.00	\$0.00	\$325,053.00			2007	Block:25, Lot:15;
Havens, Richard & Gail #1	01/11/2008	162.4610	\$2,254.00	\$360,236.53	\$268,147.67	\$92,088.86			2007	Block:1.02, Lot:13; Block:1.02, Lot:7;
Havens, Richard & Gail #2	04/06/2009	38.8060	\$13,500.00	\$523,881.00	\$0.00	\$523,881.00			2007	Block:24, Lot:10.01;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Hills, Lisa	04/27/2010	33.8890	\$4,750.00	\$160,526.25	\$0.00	\$160,526.25			2008	Block:36, Lot:1;
Hoehn, Beverly & Charles	10/24/2000	112.3166	\$2,162.00	\$242,828.49	\$181,211.60	\$61,616.89			1999	Block:24, Lot:4; Block:24, Lot:4.01;
Hoitsma, John & Anita	07/12/2002	74.6954	\$4,700.00	\$351,068.38	\$240,519.19	\$110,549.19			2001	Block:10, Lot:1.01;
Hull - Hull Farms	08/14/2007	32.9090	\$8,900.00	\$292,890.10	\$176,063.15	\$116,826.95			2007	Block:1201, Lot:3.05;
Hunt, Ralph	08/16/2006	101.2860	\$3,800.00	\$341,034.80	\$240,519.28	\$100,515.52			2006	Block:1902, Lot:10; Block:1902, Lot:13; Block:1903, Lot:1; Block:1, Lot:6;
Jaeger, Alfred	08/23/2002	120.8169	\$1,850.00	\$223,511.27	\$168,539.58	\$54,971.69			2001	Block:35, Lot:2;
Jordan - Rocky Knoll	03/16/2006	45.3320	\$4,550.00	\$206,260.60	\$141,889.16	\$64,371.44			2004	Block:112, Lot:3.03;
Joseph, Frederick & Susan	06/23/1998	246.6670	\$2,500.00	\$616,668.25	\$317,152.48	\$299,515.77			1997	Block:165, Lot:11.01; Block:165, Lot:11.02; Block:165, Lot:12; Block:165, Lot:18.01; Block:151, Lot:17.01;
Just-Cornelius - Wayward Wind	12/19/2008	69.2790	\$3,600.00	\$249,289.20	\$177,272.32	\$72,016.88			2008	Block:1103, Lot:18;
Kadish - Prices Switch Farms	12/10/2002	265.4179	\$2,700.00	\$712,929.33	\$525,455.32	\$187,474.01			2000	Block:31, Lot:9; Block:32, Lot:7; Block:33.01, Lot:1;
Kelly - Glenmalure Farm	08/31/2001	123.6155	\$850.00	\$105,073.18	\$84,058.54	\$21,014.64			1999	Block:123, Lot:5.01; Block:37.01, Lot:1;
Keyes - Cedar Haven Farm	06/26/2013	44.7430	\$2,600.00	\$116,331.80	\$85,906.56	\$30,425.24			2011	Block:1.02, Lot:14;
Kirby - Circle Brook	07/27/1990	73.8750	\$6,000.00	\$436,391.40	\$349,113.12	\$87,278.28			1990	Block:22, Lot:11.01; Block:22, Lot:19; Block:22, Lot:21; Block:25, Lot:3; Block:157, Lot:1; Block:161, Lot:2;
Klein, Max and Ingrid	06/26/2015	14.6630	\$5,700.00	\$83,579.10	\$43,031.65	\$433.20				Block:1801, Lot:12.03;
Komar, John & Naomi	04/10/2006	35.3400	\$4,800.00	\$169,632.00	\$115,915.20	\$53,716.80			2004	Block:2701, Lot:7.01;
Kopec, Joseph	02/25/2011	35.4740	\$12,800.00	\$454,067.20	\$0.00	\$454,067.20			2007	Block:138, Lot:1.03;
Kriege - Peace Dale Farm	06/15/2009	52.1780	\$3,300.00	\$172,187.40	\$124,183.64	\$41,034.06			2013	Block:2601, Lot:10;
Kronyak, Pamela & Douglas	05/27/2008	109.5800	\$5,200.00	\$569,816.00	\$383,530.00	\$186,286.00			2007	Block:26, Lot:6; Block:31, Lot:1.02; Block:70, Lot:1; Block:71, Lot:1.01; Block:74, Lot:20;
Kuperus, H Kuperus Meadows	06/30/1995	308.5026	\$3,000.00	\$925,507.80	\$678,705.72	\$246,802.08			1994	Block:138, Lot:5; Block:38, Lot:6.01;
Kuperus, John & Sonja	12/22/2003	37.0700	\$3,200.00	\$118,624.00	\$86,002.40	\$32,621.60			2002	Block:130, Lot:6.01;
Kurkjian - Orchard View Farm	12/19/2008	106.1520	\$5,100.00	\$541,110.00	\$366,045.00	\$175,065.00			2008	Block:1201, Lot:2.01; Block:1201, Lot:2.02; Block:1201, Lot:2; Block:1103, Lot:20;
Landauer - Landauer Farms	06/25/2004	86.2720	\$1,760.00	\$149,855.20	\$113,413.14	\$28,620.51	\$7,821.55		2002	Block:2701, Lot:8.01; Block:2801, Lot:1; Block:2802, Lot:1;
Lane - Stone Manor Farm	06/25/2013	120.7960	\$3,500.00	\$422,786.00	\$301,990.00	\$120,796.00			2011	Block:138, Lot:4.01;
Lewis - Fairview Hill Farm	05/27/2004	165.9130	\$3,900.00	\$630,469.40	\$630,469.40	\$0.00			0	Block:2101, Lot:8;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Lewis - Lewisburg Road Acquisitions LLC #1	06/29/2009	43.6860	\$7,500.00	\$327,645.00	\$0.00	\$327,645.00			2007	Block:16, Lot:3; Block:16, Lot:5;
Lewis - Lewisburg Road Acquisitions LLC #2	06/29/2009	104.3900	\$3,050.00	\$318,389.50	\$0.00	\$318,389.50			2007	Block:17, Lot:38;
Lewis - Lewisburg Road Acquisitions LLC #3	06/29/2009	152.8640	\$4,100.00	\$626,742.40	\$0.00	\$626,742.40			2007	Block:17, Lot:1.01;
Lewis - Lewisburg Road Acquisitions LLC #4	06/29/2009	32.1780	\$11,350.00	\$363,041.10	\$0.00	\$363,041.10			2007	Block:15, Lot:9;
Lewis - Pidgeon Hill Road LLC #1	08/06/2009	74.3960	\$4,700.00	\$349,661.20	\$0.00	\$349,661.20			2007	Block:120, Lot:2;
Lewis - Pidgeon Hill Road LLC #2	08/06/2009	69.0410	\$5,600.00	\$380,223.20	\$0.00	\$380,223.20			2007	Block:120, Lot:2.01;
Lewis - Pidgeon Hill Road LLC #3	08/06/2009	42.7420	\$9,300.00	\$397,500.60	\$0.00	\$397,500.60			2007	Block:117, Lot:13;
Lewis - Red Hill Road, LLC #1	02/04/2009	54.3490	\$1,530.00	\$83,036.16	\$63,552.51	\$19,483.65			2007	Block:47, Lot:17;
Lewis - Red Hill Road, LLC #2	02/04/2009	49.5870	\$3,485.00	\$172,810.70	\$123,521.22	\$49,289.48			2007	Block:47, Lot:17.02;
Lewis, Deidre	09/21/2010	62.6790	\$4,675.00	\$293,024.33	\$200,886.20	\$92,138.13			2007	Block:3401, Lot:4.01;
Lombreglia - Pond Road Farm	12/13/2005	58.1380	\$3,300.00	\$191,855.40	\$138,368.44	\$46,517.26			2013	Block:2602, Lot:1.01;
Lovas, Judy	04/29/2009	24.4440	\$8,300.00	\$192,850.50	\$0.00	\$192,850.50			2007	Block:901, Lot:34.02; Block:901, Lot:34.03;
Luckey - Havenwood Farm	11/03/2005	81.8310	\$3,200.00	\$261,859.20	\$189,847.92	\$72,011.28			2004	Block:9, Lot:5;
Lundbergh, Paul	11/15/2001	122.0123	\$3,050.00	\$372,137.52	\$272,087.43	\$100,050.09			1999	Block:3202, Lot:23;
Lusscroft Farm	04/02/1931	575.8600	\$0.00	\$1.00	\$1.00	\$0.00				Block:49, Lot:4; Block:156, Lot:3; Block:157, Lot:1; Block:158, Lot:3; Block:163, Lot:13
Lust - Lust Pony Farm	08/01/2006	29.9140	\$5,100.00	\$151,719.90	\$102,634.05	\$49,085.85			2006	Block:14, Lot:1.03;
Manak, Ellen	06/29/2012	60.2620	\$6,500.00	\$391,703.00	\$195,851.50	\$195,851.50			2012	Block:801, Lot:8;
Martin - Borderland Farm	06/23/1998	68.9181	\$2,310.00	\$155,196.89	\$79,816.89	\$75,380.00			1997	Block:40, Lot:2; Block:40, Lot:8;
MC Land Trust	12/11/2013	102.4390	\$4,600.00	\$471,219.40	\$147,512.16	\$323,707.24			2011	Block:29, Lot:17;
Melton - Rolling Meadows Farm #1	03/24/2011	21.1473	\$9,900.00	\$209,358.27	\$0.00	\$209,358.27			2007	Block:1602, Lot:2.08;
Melton - Rolling Meadows Farm #2	03/24/2011	23.9525	\$12,500.00	\$299,406.25	\$0.00	\$299,406.25			2007	Block:1602, Lot:2.01;
Miller Sheep Ranch #3	07/26/2010	76.9430	\$4,300.00	\$330,188.40	\$228,828.24	\$101,360.16			2006	Block:157, Lot:3;
Mooney, Raymond	01/08/2001	294.0731	\$3,738.00	\$1,099,245.25	\$777,176.39	\$322,068.86			1998	Block:19, Lot:16; Block:27, Lot:2; Block:30, Lot:1; Block:31, Lot:2; Block:32, Lot:2;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Nature Conservancy - Muckshaw	03/26/2001	197.8640	\$6,944.26	\$1,374,020.16	\$1,374,020.16	\$0.00				Block:153, Lot:33; Block:153, Lot:33.01; Block:1001, Lot:30;
Nature Conservancy - PMI	04/25/2002	132.0990	\$5,677.56	\$750,000.00	\$750,000.00	\$0.00				Block:801, Lot:33; Block:1001, Lot:1.01;
Neppl, Claus	01/15/2002	86.6222	\$2,200.00	\$190,370.84	\$141,912.81	\$48,458.03			2000	Block:17, Lot:3; Block:3105, Lot:1.01;
Nilsen, Eric	01/07/2009	33.9110	\$5,000.00	\$169,555.00	\$115,297.40	\$54,257.60			2004	Block:1301, Lot:2; Block:1301, Lot:14.04; Block:1301, Lot:14.05;
Nowicki, Edward	04/08/2004	174.4060	\$2,475.00	\$431,654.85	\$319,598.99	\$112,055.86			2002	Block:36, Lot:2.01; Block:36, Lot:2.07; Block:36, Lot:14.01; Block:36, Lot:14.03; Block:36, Lot:14.04; Block:36, Lot:14.05; Block:36, Lot:14.06; Block:36, Lot:14.07;
Ortiz, Nelson	02/26/2007	41.7620	\$3,200.00	\$133,638.40	\$96,887.84	\$36,750.56			2006	Block:9, Lot:18; Block:9, Lot:18.03;
Parrot - Herons Flight	06/27/2003	121.1533	\$1,675.00	\$202,931.78	\$154,167.57	\$48,764.21			2000	Block:142, Lot:3.01; Block:143, Lot:11;
Passarelli, Lawrence & Kelly	11/15/2005	46.6060	\$3,300.00	\$153,799.80	\$110,922.28	\$35,907.82			2013	Block:2601, Lot:6;
Pattison, William & Charlotte	02/19/2008	110.4230	\$5,500.00	\$607,326.50	\$403,043.95	\$204,282.55			2006	Block:129, Lot:4.01; Block:130, Lot:1;
Peck, Harold & Sally	04/09/2009	36.2790	\$15,500.00	\$557,039.00	\$323,451.00	\$233,588.00			2007	Block:14, Lot:10.01; Block:14, Lot:10.03;
Postma, Siek & Rena	10/28/1996	88.9710	\$2,240.00	\$199,295.04	\$133,457.16	\$45,764.72	\$20,073.16		1995	Block:159, Lot:2.01; Block:127, Lot:10;
Pritchard - 5 Dollar Ranch	07/26/2006	19.8110	\$5,800.00	\$113,946.80	\$74,654.80	\$39,292.00			2006	Block:14, Lot:2.02;
Proulx - J & J Farm West	08/30/2007	30.5530	\$5,200.00	\$158,875.60	\$106,935.50	\$51,940.10			2007	Block:9, Lot:19;
Ricker - High Point Farm	08/13/1997	250.1152	\$2,949.00	\$737,589.73	\$541,324.33	\$196,265.40			1996	Block:35, Lot:8; Block:37, Lot:12.01; Block:37, Lot:12.03; Block:38, Lot:14.01;
Ringier - Yellow Barn Farm	08/11/2006	62.7920	\$2,470.00	\$155,096.24	\$114,846.57	\$40,249.67			2004	Block:117, Lot:24.01;
Rogers, Miriam	06/27/2006	121.0980	\$3,588.00	\$431,869.62	\$307,267.77	\$124,601.85			2006	Block:2805, Lot:1; Block:2806, Lot:1; Block:3102, Lot:8;
Roof, George & Leon	05/19/2006	84.9970	\$4,275.00	\$360,895.50	\$250,305.30	\$110,590.20			2004	Block:3302, Lot:10.01;
Rosenbergh, Edmund & Elizabeth	09/15/2009	45.0970	\$9,400.00	\$423,911.80	\$0.00	\$423,911.80			2007	Block:401, Lot:12.01;
Russell - Valley View Farm	12/09/1999	87.5818	\$2,770.00	\$242,601.59	\$178,579.29	\$64,022.30			1998	Block:37, Lot:3.01;
Sadlon, Carolyn	12/23/2005	109.4120	\$3,510.00	\$381,940.65	\$272,690.39	\$109,250.26			2004	Block:22, Lot:8;
Scott, Edward & Jane	11/14/2002	134.7300	\$4,067.00	\$547,946.91	\$382,680.15	\$165,266.76			2001	Block:14001, Lot:6; Block:32, Lot:8; Block:32, Lot:9; Block:32, Lot:10; Block:32, Lot:11; Block:32, Lot:14; Block:32, Lot:15; Block:32, Lot:16; Block:32, Lot:17;
Sella - High Hollow Farm	05/19/2016	151.7430	\$4,500.00	\$673,857.00	\$455,227.84	\$218,629.16	1		2010	Block:801, Lot:32.03;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Shaffer, Marlyn & Margaret	03/02/2001	183.0103	\$1,500.00	\$274,515.45	\$210,461.85	\$64,053.60			1999	Block:1, Lot:59; Block:1, Lot:71; Block:1, Lot:75; Block:1, Lot:90; Block:1, Lot:91;
Snook, Barbara	12/09/1999	141.7968	\$2,000.00	\$283,593.60	\$212,695.20	\$70,898.40			1998	Block:25, Lot:9; Block:25, Lot:11.01; Block:21, Lot:1; Block:21, Lot:2; Block:21, Lot:7.01;
Southway, P Saddle Ridge, LLC #1	05/15/2008	40.5990	\$5,220.00	\$211,926.78	\$142,502.49	\$69,424.29			2006	Block:1801, Lot:4;
Southway, P Saddle Ridge, LLC #2	05/15/2008	41.5850	\$5,400.00	\$224,542.80	\$149,695.20	\$74,847.60			2006	Block:1801, Lot:4.03;
Southway, P Spring House Dairy #1	02/17/2011	46.1680	\$5,800.00	\$264,729.40	\$0.00	\$264,729.40			2008	Block:1801, Lot:8;
Southway, P Spring House Dairy #2	02/17/2011	40.6360	\$6,435.00	\$261,492.66	\$0.00	\$152,492.66	\$109,000.00		2008	Block:1801, Lot:8.01;
Southway, P Spring House Dairy #3	02/17/2011	43.2370	\$8,400.00	\$363,190.80	\$0.00	\$243,190.80	\$120,000.00		2008	Block:1801, Lot:8.02;
Southway, P Spring House Dairy #4	02/17/2011	53.0440	\$6,900.00	\$366,003.60	\$0.00	\$366,003.60			2008	Block:1801, Lot:4.04; Block:1801, Lot:4.05; Block:1801, Lot:12.02;
Steele, Bernard	03/16/2004	50.2537	\$3,395.00	\$170,611.31	\$122,468.27	\$48,143.04			2002	Block:30, Lot:1.03; Block:35, Lot:5.01; Block:35, Lot:5.02;
Steinetz - Maple Farm	05/20/2003	154.0317	\$1,650.00	\$254,152.30	\$193,309.78	\$60,842.52			2001	Block:29, Lot:6.01;
Stoll, Gary	05/15/2008	40.7110	\$4,750.00	\$186,333.00	\$55,899.90	\$130,433.10			2008	Block:25, Lot:19.01; Block:25, Lot:20;
Struble, Elizabeth & Ruth	10/07/1998	106.6642	\$2,400.00	\$255,381.84	\$131,491.85	\$123,889.99			1997	Block:14, Lot:9; Block:31, Lot:6; Block:31, Lot:7; Block:32, Lot:3; Block:32, Lot:4; Block:32, Lot:5.01; Block:32, Lot:6.01; Block:74, Lot:24;
Syberg, Ken	12/10/2015	109.2000	\$5,000.00	\$545,530.00	\$280,947.95	\$264,582.05			2010	Block:3805, Lot:4.01;
Takacs - High Meadow Farm	12/12/2005	72.3570	\$9,900.00	\$716,334.30	\$429,800.58	\$286,533.72			2004	Block:28001, Lot:5;
Tommaso - LL Pittenger Farm	01/06/2014	46.6590	\$9,750.00	\$437,521.50	\$198,776.28	\$0.00	\$131,492.90	\$107,252.32	2010	Block:19, Lot:7; Block:19, Lot:7.02; Block:19, Lot:7.03;
Torre, Salvatore	10/29/2009	165.4310	\$5,550.00	\$918,142.05	\$0.00	\$918,142.05			2008	Block:18, Lot:1.02; Block:18, Lot:2.01;
Tri Farms, Inc.	08/05/2010	546.3410	\$4,990.00	\$2,726,241.59	\$0.00	\$2,726,241.59			2008	Block:2, Lot:2; Block:380, Lot:2; Block:28, Lot:1; Block:28, Lot:1.02; Block:31, Lot:7; Block:31, Lot:7.01; Block:34, Lot:13; Block:34, Lot:13.01; Block:34, Lot:33;
Turr, Lynn & Bonita	04/23/2010	52.3970	\$5,100.00	\$267,224.70	\$178,149.80	\$89,074.90			2008	Block:135, Lot:8.04; Block:135, Lot:8.05;
Ulrich - Pine Acres Farm	11/14/2002	27.7900	\$2,574.00	\$71,531.46	\$52,851.02	\$18,680.44			2001	Block:142, Lot:8.05;

Name	Closing Date	Acres	Cost Per Acre	Total Easement Cost	SADC Cost	County Cost	Federal Farm Bill Cost	Municipal Cost	Funding Round	Block/Lot
Vance - Pochuk Valley Farm	12/21/2010	177.7480	\$3,500.00	\$620,816.00	\$620,816.00	\$0.00			2011	Block:22, Lot:1; Block:30, Lot:1; Block:31, Lot:1;
VanWingerden, W Augusta Hill Farm	12/21/2004	75.7190	\$3,600.00	\$271,306.80	\$192,929.28	\$78,377.52			2003	Block:19, Lot:15;
Vaughan, Jon & Holly	12/12/2000	636.1203	\$1,700.00	\$1,073,282.76	\$814,432.21	\$214,651.28	\$44,199.27		1999	Block:14, Lot:16; Block:14, Lot:19; Block:14, Lot:20.01; Block:14, Lot:21; Block:14, Lot:22; Block:14, Lot:25; Block:14, Lot:26; Block:14, Lot:30; Block:14, Lot:31; Block:14, Lot:32; Block:14, Lot:38.02; Block:14, Lot:39; Block:15, Lot:8; Block:15, Lot:38; Block:15, Lot:42; Block:15, Lot:43; Block:22, Lot:19;
Vendetti - Bogav Farm	06/19/2008	28.5420	\$4,464.00	\$127,411.49	\$38,223.45	\$89,188.04			2008	Block:3302, Lot:5;
Wallerius - Windover Lake Farm	12/27/2002	38.1500	\$2,475.00	\$94,421.25	\$69,909.88	\$24,511.37			2001	Block:142, Lot:8.01;
Warren & Bertot - Castle Hills	12/28/2011	44.5470	\$4,600.00	\$204,916.20	\$0.00	\$204,916.20				Block:159, Lot:2.02;
Warsex Developers	12/21/2001	149.7026	\$1,876.25	\$280,879.50	\$211,586.66	\$69,292.84			2000	Block:37, Lot:10;
Washer - Rock Knoll Farm	07/01/2010	98.0400	\$11,500.00	\$1,127,460.00	\$552,529.50	\$574,930.50			2008	Block:27, Lot:6.02; Block:166, Lot:1; Block:1, Lot:2;
Weber, Louis	03/06/2006	67.7170	\$3,300.00	\$223,466.10	\$161,166.46	\$55,329.94			2013	Block:2602, Lot:1;
Weiss - Sweet Water Farm	07/01/2009	69.5260	\$3,100.00	\$215,530.60	\$157,128.76	\$58,401.84			2007	Block:61, Lot:28;
Westbrook - Valley Brook Farm	11/05/2004	109.3940	\$2,470.00	\$291,020.34	\$215,496.44	\$70,121.55			2003	Block:3302, Lot:21; Block:101, Lot:11;
Westfall Farm & Winery	12/20/2004	332.3010	\$1,700.00	\$564,468.00	\$428,331.60	\$136,136.40			2003	Block:4, Lot:48; Block:8, Lot:7; Block:8, Lot:7.06;
Wirths, Harold, Wallace & Deborah	08/31/2001	225.3668	\$1,743.75	\$392,983.36	\$297,626.16	\$95,357.20			2000	Block:12.01, Lot:11; Block:14, Lot:29.01;
Young, William & Betty	04/17/2009	42.0610	\$8,800.00	\$369,503.20	\$0.00	\$369,503.20			2007	Block:1103, Lot:22.01; Block:1103, Lot:23;
Zebrowski/Simon	12/15/1999	158.9157	\$2,542.00	\$401,138.53	\$296,557.40	\$104,581.13			1998	Block:29, Lot:8; Block:29, Lot:10; Block:30, Lot:5;
TOTALS		17,948.6402		\$65,994,394.27	\$34,618,266.76	\$30,491,137.70	\$704,287.88	\$107,252.32		